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Exercise I: (9pts) 
In the following table, just one of the proposed answers is correct. Indicate the number of the question and 

its corresponding answer and justify.  

 

 

 

 

  

No. Questions 
Answers 

a b c 

1. Consider the two circles C1(O1, √132 − 122) and 

C2(O2, 
93−34

35 × 9 ) such that  

O1O2 = (5 − √2)
2

+ 2(1 + 5√2). Then (C1) and 

(C2) are: ..(3 pts) 

Externally 

Tangent  

Internally 

Tangent 

Externally 

Disjoint 

2. A, B and C are three points in a plane such that: 

 𝐴𝐵 =
0.4̅+(

1

3
)

2

(1.3̅−
10

3
)

2 × 62 𝑐𝑚 

 𝐴𝐶 =
2.8×1019+0.77×1020

46×1018−0.031×1021 − 3 𝑐𝑚 

 𝐵𝐶 = (
3

7
+

4

7
× 5 ÷

1

3
) × 3−1 𝑐𝑚 

Then the nature of the triangle 𝑨𝑩𝑪 is: ..  (4 pts) 

Right at C 
Semi-

Equilateral 

Right Isoscles 

at C 

3. In the adjacent figure 𝑴𝑵𝑷 is a 

triangle whose vertices are on 
(𝒄) 
If [𝑵𝑰) is the bisector of 𝑴𝑵̂𝑷 

then,….(2pts) 

 

 

𝐼𝑃̂𝑀 = 𝐼𝑀̂𝑃 
 

𝐼𝑃̂𝑀 = 2𝐼𝑀̂𝑃 
 𝐼𝑀̂𝑃 =

𝐼𝑃̂𝑀

2
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Exercise 2: ( 3½pts) 

In the adjacent figure we have: 

 𝑚𝑒𝑠𝐴𝐶̂ =
(0.24)2×2×(0.9)2×15

(−0.3)4×(1.2)2  degrees. 

 (𝑥𝑦) tangent to (𝐶) at C. 

1) Show that 𝐴𝐵̂𝐶 = 60° then deduce the value of 𝑥𝐶̂𝐴. (2½pts) 

2) The tangent to (𝐶) at A cuts (𝑥𝑦) at 𝑀. 

What is the nature of the triangle AMC? Justify(1pt) 

 

 

Exercise 3: (7½ pts) 

(C) is a circle of center O and radius 𝒓 = 𝟑𝒄𝒎 and diameter [𝐴𝐵]. M is a point on (C) such that 𝐴𝑀̂ = 60°.  

Let (𝑑)& (𝑇) be two tangents to (C) at A and M respectively. (T) cuts (d) at point N. 

1) Draw a clear and coded figure. (¾pt) 

2) Determine the nature of triangle AMO. (¾pt) 

3) The parallel through O to (AM) cuts (T) at P. 

a. Prove that triangles MOP and OPB are congruent. (1½pts) 

b. What does (PB) represent for the circle (C)? and (PO) for segment [MB]?  Justify. (1¼pts) 

c. Prove that that NP=NA+PB. (1¼pts) 

4) Let Q be the symmetric of M with respect to O. 

a) Prove that AMBQ is a rectangle. (1pt) 

b) Calculate its area. (1pt) 

 

 

 

 

 

                                                                 Good work 


